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MATERIALS

Caron® Cotton Cakes™ (3.5 0z/100 g; 211 yds/193 m)

Contrast A Beachglass (49009) 4 balls
Contrast B Rose Whisper (49001) 4 balls

Size U.S. 6 (4 mm) circular knitting needle 29" [74 cm] long or size
needed to obtain gauge.
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ABBREVIATIONS

Approx = Approximate(ly)
Beg = Begin(ning)

Center Dec (worked over

3 sts) = Slip next 2 stitches as if
to K2tog. K1, then pass slipped
sts over knit st — center of 3 sts
should be on top of decrease,
2 sts have been decreased.
Cont = Continue(ity)

K1 = Knit

K2tog = Knit next 2 stitches
together

MEASUREMENTS
Approx 27" x 60" [68.5 x 152.
5cm].

GAUGE
26 stsand 30 rows =4"[10 cm] in
pat.

INSTRUCTIONS
Note: Carry color not in use up
side edge of work.

With A, cast on 177 sts. Do not
join. Working back and forth
across needle in rows, proceed as
follows:

1st and 2nd rows: With A, knit.

Pat = Pattern

P = Purl

Rep = Repeat

RS = Right side

Ssk = Slip next 2 stitches knitwise
one at a time. Pass them back
onto left-hand needle, then knit
through back loops together
St(s) = Stitch(es)

WS = Wrong side

Yo =Yarn over

3rd and 4th rows: With B, knit.
Rep last 4 rows 4 times more.

Cont in pat as follows: See Chart
on page 2.

1st row: (RS). With A, K10. K2tog.
*K4. yo. K1. yo. K4. Center Dec.
K10. yo. K1. yo. K10. Center Dec.
Rep from * 3 times more. K4. yo.
K1. yo. K4. ssk. K10.

2nd row: K10. Purl to last 10 sts.
K10.

Last 2 rows form pat.

Cont in pat as established,
alternating 2 rows of A and
2 rows of B, until work from beg
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spark your inspiration!
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measures approx 58" [147.5 cm],
ending on a WS row with A.
Next 2 row: With B, knit.

Next 2 rows: With A, knit.
Rep last 4 rows 4 times more.
Cast off.
KEY
O -K1onRSrows.P1onWS rows. - ssk e -yo
[l -P1onRSrows. K1 onWS rows. - K2tog - center dec
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Start here
36 strep
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